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The simplifications of two different expressions are shown below.
P ’ <heoppect 2° . 2°

Expression X foﬁzzea'r Ex re.sm}l(,_5 2% fz’ @
(3% -4 + 4 x (=57 26+ T3 |

=35_ 44 + 4~ X (—5)~ #2453 |

=729 256 16 % 25 Jmm_r =8 +(=25)x 3

=729 - 256 + 400 =8 + (=75) j)

=873 = —67

8. Which of the following statements about the simplifications above is true?

A. The simplifications of both expressions are correct. No7 TRve
B. The simplifications of both expressions are incorrect. NO T TRu&

@ The simplification of Expression X is correct and the simplification of Expression Y
18 incorrect. L

D. The simplification of Expression Y is corrzct and the simplification of =11
is incorrect,

Each of the four students shown below simplifies the following expression.

Use B@tgs 4+3x5-6%+(@4+2°x%x2
Q) («4+2)3 A
® G'+e3:=0
S0
Y+ 3x5 ~-bx2
——
= HH +i15 - | v
= 194-1lz = ; > ‘,;,
Student 1 Student 2 Student 3 Student 4

35.  Which student correctly simplified the expression?

A. Student 1

Student 2
C. Student 3
D. Student 4 4. Which of the following expressions is equivalent to ——-—-40 g’ 104‘ ‘
X (6 —4)
A, 40+10+5x6-4 .U bRedirs 10
B. (40+10)+5x(6-4) -Ségawmq
C. 40+10+(5x (6 4)) ns, aand.

T2 L nomeralor,
4o + 10 5 % (6 - 4% A2om éjfe nNem\ naToS.
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The eight labelley pomts on the number line shown below represent rational numbers.
sl 5 6 s "
- 34*4’::&}4:5:::@—{—@4:%@-@:{@»

-2 :‘L._l 0 1&

-1 Li25 _ﬁ_w
_ YN S
Numerical Response Q T @zﬂﬂ ) /\/U ") A" @/ R C)Q,zpét 17l VQ,O(—"SOFS

r&u- ,.ﬁv"

- 0
: ~T G - ’%\Qp pr
m Match each of the followmc Iqtlonal numbers to its corresponding point on the number line 4;3;4 {S

shown above. L)""bl ((
‘ 5 'L oV
-1 ‘:;} is located at Point 1 . (Record in the first column) ~ — | q = - .+ . ;ixzbﬂ:; /5
o
13 7 . : 13 s n A
located at Point . (Record in the second column) 4= -

3 is L (Re 3 = ‘(jeoﬁ Y

1.125 is located at Point 6 . {Record in the third column) le 1258
it

—0.875 1s located at Point . (Record in the fourth column) -~ O. 215

{Record your answer in numerical-response section on Ot

The letters on the number line below represent raiional numbers.

JXK L ™M
AR

< e
—
[
(o)

1. The approximate value of /15 is represented by the letter

Ao T . P J18 N 7B IS e
B. K \/-"} Vb Close
CC. L > 3 ._: 9.
B‘. s
basT > AredesT
23. Which of the following rows has the rational numbers ordered from least to greatest? J, J
Row Least ,0'? [ Greatest Omn T m
: 7 | .
s/, V| g -0.5 p 2 | 05« + Numbres are 8“1‘5@2‘
_. 7 5 than - numiers
| B. ~0.6 X -3 X I | s e smaller numbers on e
_-' | n.eaaﬁ\@ Side ope fu,eﬂ\ér'
- | m
. I
—0F 3 2 |
| | -0% = 05 } ol




Sam plans to graph the following rational numbers on the number line shown below. ‘l
|
1 3)( >( e
- 2 .
Rational Numbers: -2 —-1 5 3 2. —1 3 -(1.4) |
v v v Y_1.96
- , L 5 - ,. @ |
~2. 25
—3M:::==—:2:]L1'v=:%:—:1; ‘
= [
-22 [
4 _ ;’é_'
Numerical Response L» 2.15 3 Y - 1. 025
- How many of the rational numbers shown above should be graphed between Point M and Point N on the
number line?
Answer: 3

(Record your answer in the numerical-response section on the answer sheet.)

The letters P and @ each represent zn integer in the expression below.

2xP*-6+Q

17.  Which of the following values for P and @ would result in the lowest value for the
expression shown above?
Row P | 0

_ | ) }3
A. -2 ] Axl-2)%lo+=(-2) ; 2x(-8-f+¢2

i a . —lW‘a__lq
[ . = —2 -6_0' (-2) -

i'_ L | - 13‘(2) 1 2 %8 43 = ‘s
2x(-8) %2 5 -lp-3=-19

. LxB g 3 lo-35,3

I

o\n
]
]
IQ ~

- . Foach ~
o A TR gﬂf,:j —> Mutriply]

A scientific calculator has 40 buttons, of which % are wh1te, 5 are grey, and 4 are orange.
The rest of the buttons are black.

e . L/O = L@ .J,O ' (qD) L{O B 8
(4)° %2, s % 2
E? How many black buttons does the calculator have? 4o - (jo 48+ Y) = 4o - 22,
?> /'_‘\
Answer: 19 é,&; lzj

(Record your answer in the numerical-response section on the answer sheet.)



35.  Whatis the value of the expression 6 — -l_f + 15 -2 % 0.75?

b_..L_'._L -33x 0.7S |
- L" - g) &@ .‘“\o —5
- ~L - - 8)( O.?s
: e “ -r‘-é‘ 3 B. ——l:
= &
N 2 5
s b -2Z&2L-8x0.75 |
. -l - b . )
- - é D. %
o
39. Monica multipli =] by : 3 is =2 the i inlied —2 gq/uﬁc S
39, a multiplies 3 by a number. If her answer is %, then Monica multiplied 3 by 5&’"‘) P -
A. -(3,-) } 2 3 P
J . 3 x 2 3
3 0 - - :_32"' N = = (2 )
B. (‘5_7) 2 x 2
2 -
~ (3 36. Which of the following inequalities represents the rational numbers shown above? &2
C. 5 eq P
buygesT g
preum.
o (1)2 A. Y<Z<X s X: _005
: 2 B. Y<X<Z 2 2_:
C. Z<X<Y —53 <« Y _1i

—

Variables g, r, and 5 represent rational numbers.

q>vr
s=qg+1

22. Which of the following number lines represents the order of the three rational numbers?
V-2 any 3 numbees
A, -0~ . 4 ® s e
~10 q ) r 10 4 = ,3
S= ? +l =4
= 2

-10 § q r 10 r
%en S> 9>
C 4+ ——0o—1> J J
R ! v Cloge— Choer
Y —+o

D. —&+ ————@ b to - 10




